CATALYTIC CONVERTER
GUARD SKID PLATE

(2019-2024+ 1500)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

(1) Skid Plate T-45 Security Torx Bit (Provided)
(2) M12x1.75 Nuts Bit Driver

(2) M10x1.50 x 50mm Bolts 16mm Wrench

(2) M10 Lock Washers Floor Jack

(2) M10 Flat Washers Jack Stands

(2) M10 Nut Plates

(2) Spacers

(1) T-45 Security Torx Bit

SKU # R171158
Edited: 03/13/2024



STEP1

Lift and support the front of the vehicle using a floor jack and jack stands.

Locate the (2) slots in the crossmember under the rear of the transmission. Fit the included (2)
M10 nut plates into the slots.

STEP 2

Under the vehicle engine, locate the crossmember studs. The inner-most studs will be used to
mount the skid plate.



STEP 3

With a helper, lift the skid plate to the front (2) studs. Loosely secure the skid plate to the studs
using the included (2) M12 nuts.

STEP 4

Secure the rear of the skid plate to the previously placed stud plates using (2) M10 x 50mm bolts, (2)
M10 lock washers, (2) M10 flat washers, and (2) spacers. Ensure the provided spacers are installed
between the vehicle crossmember and the skid plate.



STEP S

Adjust the skid plate for best fit, then fully tighten all hardware.

Installation is now complete.



	R171158 - Barricade - Catalytic Converter Guard Skid Plate (19+ RAM 1500)-01
	R171158 - Barricade - Catalytic Converter Guard Skid Plate (19+ RAM 1500)-02
	R171158 - Barricade - Catalytic Converter Guard Skid Plate (19+ RAM 1500)-03
	R171158 - Barricade - Catalytic Converter Guard Skid Plate (19+ RAM 1500)-04

